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BEHIER T Z vTF) BT =21

20224E06 H11H  (+FEH)

JIEAT. K 4 ouT IN G HC NET * ¥ [NVEVAR d
IRl ERE==TIN 37 40 77 77.0
2 JKGE- 38 39 77 77.0
3 RATTEERE 37 41 78 78.0
4 BT 39 39 78 78.0
5 (32t 41 38 79 79.0
6 HEES 40 40 80 80. 0
7 HEILEE 40 40 80 80. 0
8 = 40 41 81 81.0
9 JuJlHF— 42 39 81 81.0
10 EEEA 43 39 82 82.0
11 ZHAKE 41 41 82 82.0
12 F7EHRE 42 41 83 83.0
13 REHR 42 41 83 83.0
14 ‘BEHife 40 45 85 85. 0
15 HFHIT 45 40 85 85. 0
16 RIEFRERR 42 43 85 85. 0
17 FR{E== 43 43 86 86.0
18 #mi/AFn 45 43 88 88.0
19 FEE 46 42 88 88.0
20 PrevsE] 44 45 89 89. 0
21 MAKIE 47 42 89 89. 0
22 /NEFEE 45 44 89 89.0
23 fEHEE 46 44 90 90. 0
24 JEKE 47 43 90 90. 0
25 VINPR—ER 46 45 91 91. 0
26 A EF 49 42 91 91.0
27 WARZE= 44 48 92 92. 0
28 1LA%— 47 45 92 92. 0
29 #ALfE— 49 44 93 93.0
30 FEATR— 49 46 95 95. 0
31 HikER 52 43 95 95. 0
32 TrH%E 52 46 98 98. 0
33 WEARS 54 45 99 99.0
34 | [LARBER 54 45 99 99. 0




